MANTIK

5.
Cevap: C
a=1 icin b=30 ve c¢=60 = x=1800
a=2 icin b=15 ve ¢=30 = x=450
a=10 icin b=3 ve c¢c=6 = x=18
a=15 icin b=2 ve c¢c=4 = x=8
= bileske vektdr 2 birim uzunlugun- O halde 24 olamaz.
dadir.
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Cevap: D
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Cevap: A
ab=11 = a=1 ve b=11
A=4a=41=4
B=4b=411=44
= A+B=4+44=48 olur.
Cevap: E
a.b=20
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a.c=24
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~ F(412) (4+1+2)! 70 7.8.5.41
24 o) 30 7 C(67)= 567 -567- B.g7 -2
= a+b+c=4+5+6=150lur. Cevap: D
Cevap: B
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8. + x=abcolsun
F(x) = F(abc) = (a + b + ¢)! = 720 = 6!
a+b+c=6
5 1 0
=x=510
C(x+2)=C(512)=5.1.2=10
Cevap: E
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9. F(x)=6=3!
Yani x'in rakamlari toplam 3 olmal
Ohalde x=3, x=12, x=21, x=30, x=111
x=120, x=102, x=210, x=201, x=300
olmak Uizere 10 farkli degeri vardir.

Cevap: A
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